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57. Given that kis a positive constant and j ( + 3} dx=4

1 We
(@) show that 34+ 5Vk - 12 =0

@
(b) Hence, using algebra, find any values of k such that

Neaae

SN\k+3k-F=h
3k+5Jk-12=0 as reqjtred .

(b) Tf Ha inlegrol ts true Hen we reed to frid vabuon
R 3b 3R45NR-1220 Cst = such Hat)
This us essevhatly a grade’ U we put Vig am

(Bx245x-12) 20
Ths facronbes

(3x -4 \Gc43) 20
Guaia x =Nk=y ow -jes

This ques =a mw 1, But, bis confiiedto He
aut domain $0 when we tke VR ro9¢ urd 2x beckto
lousebo bold, Hee tre vrok. But Nite nuk lee 3 fev b= 4
to oak. So we are Leph ott R= fq ack reper tee a= 4,
[Mote yp we heleHe ve Sq pate rook | 4 Hob roots tice
fo bab Mel gy dh He —ve dower.


